A EERR= (B55ERER)

FTRRFEXHIKR
(ER284F6 A %)

AH X5 #2 =EE (M)
6A4H BXE (LATRFEM BREE I ZRIEERBEIRELET 3y 6,000
6H9H BRE |AIRFINFZTEREE FH 5,000 F
6 A9H BEFE |HFINHEZESR AR 10,800 M
68128 | BRE |BrREFEREyrEREZSERIXNHER (BHRR) 10,000 M
6H17H BHE BrREZROZBER(BEEXRERSR) 4,000 M
68218 | BRE [BECHEXHk TH 3,000 4
68238 | BHKE |IL—MOIBALERIGZESEERE (BHR) 5,000 4
6F248 | BHRE |FHRUXERERFEHRIBS 4,000 M
68298 | BFRE |BAZEXH% FH 3,000 4
68298 BHE |FBINV)— 2= (BER) 3,000 M

CEL 10 44 53,800 [

FET (ER28FEE)
N 6 A% TR28EERE
H £ (M) 5 £ (M)

BRE 4 21,800 [ 8 41,600 M
RES 0 4 0 M 0 14 0M
B 0 4 0 M 0 14 0M
BERE 6 ¥4 32,000 M 21 ¥ 91,000 M
BEE 0 4 0 M 0 14 0M
Z Dt 0 # 0 M 2 % 45,900 M
= 10 ¥4 53,800 M 31 ¥ 178,500 [




